= AH O
N = 0 &8 AF S & Al A
20108 =& 1 3 LBE|H A% ~ AH
SN M
M FOIXX J|Brt2 St
Sel: FOMY HoES (e @
2N -3 - c2(3H) - NEME - HES Ol AFoH pjEsifon Hl =2
b 535,668 518,702 16,966
FOIRER DIBr2 5t 159,388 140,278 19, 110
FOHH BT 60,755 60,745 10
QIAME MHIA X 60,755 60,745 10
405 XtAHE SHI 1,050 1,040 10
01 MHARSEFSH 1,050 1,040 10
OgAISE AN 330 0 500 2500
Oololg o Xt 380 0 540 AbB40
OAEIY AEE 350,000 * 1K 350 0 350
OHII24D|(5HEA) 350,000 * 2CH 700 0 700
EHA2e] 98,633 79,533 19, 100
FOIHO A|&2Y 98,633 79,533 19,100
401 Al&HI LS 24,100 5,000 19,100
01 Al4&H] 24,100 5,000 19, 100
O=2X 32 A 242 AHSRHIEH) 16,000,000 16,000 0 16,000
OZ0OHQl BoAlE AX 3,100,000 3,100 0 3,100
ARZ XL A 301,000 302,000 A 1,000
FOIE™ A 301,000 302,000 A1,000
ARD MEEHOALY 181,000 182,000 21,000
206 X 24l 9,000 10,000 21,000
01 24l 9,000 10,000 A 1,000
ORHE2Y Z2| XM 23 9,000,000 9,000 10,000 A 1,000
T2 Fy 80,000 80,000 0
401 Al&HI LY 80,000 80,000 0
01 Al&H] 80,000 80,000 0
O=24e S4at2 =XEAYIZ2AH600m)
20 0 20,000 220,000
Oos£(24) T2 E ZAH200m)
20,000,000 20,000 0 20,000
HES2AAH| (A H) 75,280 76,424 A1,144
QI AH|(AH) 11,496 12,640 A1,144
ol 2| 11,496 12,640 A1, 144
203 Y2 =Z&H| 10,296 11,440 A1, 144
01 D22 ARE=EIH| 5,940 6,600 2660
OJA2IAL =Y (AH) ZE 5,940,000 5,940 6,600 A 660
02 HRAIMMASFZH| 576 640 B4
OFAINNMALZTH| (AH) Z3A 576,000 576 640 AB4
04 BN2IARE=EIH| 3,780 4,200 A420
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